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After being open for a long time, the switch closes at t = 0.
a) Find vC(0–) for the above circuit.
b) For t > 0, find the Thevenin equivalent of the above circuit as seen from the

terminals where the capacitor is attached.
c) For the above circuit, find find v1(t) for t > 0.

NOTE: The original problem shows the current in the capacitor as 99ib.  The
dependent source in the problem was intended to represent a bipolar
transistor, in which case ib is the base current that is approximately
1/100 times the collector current shown in the problem as 99ib.  The
solution below assumes the base (and capacitor) current is ib.  The
method of solution using the capacitor current as 99ib is the same,
but RTh changes, and the answers obtained are as follows:

a) 0 V (same as below)

b) RTH = 240 Ω (2·120 Ω instead of 100·120 Ω)

c)

€ 

v1(t > 0) =12e−t / 720µs V
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